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QID : 1 - In the following question, select the related word from the given alternatives.
Car:Road:: Ship:?
feafafEa vy § Ry g foeredt & @ wefda e &t gHgl

MY : TS : : G SR : ?
Options:

1) Water

STeT

2) Air

arL

3) Road

qsh

4)'Both Air and Water
IR qAT ST &l

Correct Answer: Water
STt

Candidate Answer: Water
STet

QID : 2 - In the following question, select the related letters from the given alternatives.
GLOW : FJNU : : PTEL: ?

fafafea uy § Ry g faredt & @ Gefda sreri st gfhgl

GLOW : FJNU : : PTEL: ?

Options:

1) ORFN

2) ORDJ

3) ORJD

4) OPNF
Correct Answer: ORDJ
Candidate Answer: ORFN

QID : 3 - In the following question, select the related number from the given alternatives.
5:124::6:?

fafafEa uy 8§ Ry g foeredt & @ wefa e @t gl

5:124::6:?

Options:

1) 215

2) 216

3) 217

4) 220
Correct Answer: 215
Candidate Answer: 215

QID : 4 - In the following question, select the odd word pair from the given alternatives.

FfafEa us A Ry 77g faredt 7 & faww <reg g &l gg|
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Options:
1) Error : Accurate
T : e
2) Careless : Casual
: ATURATE
3) Strength : Lethargy
T : g
4) Gloomy : Cheerful
eI : STHfed
Correct Answer: Careless : Casual
3 : ATIRATE
Candidate Answer: Strength : Lethargy
9 gt

QID : 5 - In the following question, select the odd letters from the given alternatives.

FfafEa us | Ry 71g faehedt # € faww sreri &t gi-g)

Options:
1) FUGT

2) KPLO
3) DWEV

4) CWDX
Correct Answer: CWDX
Candidate Answer: CWDX

QID : 6 - In the following question, select the odd number pair from the given alternatives.

freafafEa w8 Ry g faredt § @ fowm e gt gl
Options:

1)11-120

2) 17 - 290

3) 21 - 442

4) 12 -145
Correct Answer: 11 — 120
Candidate Answer: 11 - 120

QID : 7 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Pragmatic
2. Protect

3. Pastel

4. Postal

5. Pebble

frfafad el &t areaentsr & 11 aTel 3 & IR ford|

1. Pragmatic
2. Protect

3. Pastel

4. Postal

5. Pebble

Options:
1) 43521
2) 35412
3) 34512

4) 43512
Correct Answer: 35412
Candidate Answer: 35412

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
QPRON,?
Tk SrgehH e T 8, v @ uah ue e 81 g 7y farhedi # @ a8 @ fehew g, St s @Y g R

QPRON,?
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Options:
HM

2)L
3)0

4)J
Correct Answer: M
Candidate Answer: M

QID : 9 - In the following question, select the missing number from the given series.
6,9,15,24,39,63,?
fafafea vy § Ry 7 et & @ g ofe 31 hifsgl

6,9,15,24,39,63,?
Options:

1) 97

2) 115

3) 102

4) 124

Correct Answer: 102
Candidate Answer: 115

QID : 10 - P and Q are brothers. P is the father of S. R is the only son of Q and is married to U. How is U related to S?

Pt Q g §1 P, S ol fUaT &1 R, Q &1 UohAT™ U3 & auT 98 U & faarfga &1 U, S & forw R wieifaa &7
Options:

1) Sister-in-law

areft

2) Mother-in-law

a9

3) Sister

g5

4) Mother

HTAT

Correct Answer: Sister-in-law
et

Candidate Answer: Sister-in-law
reft

QID : 11 - Nine years later, age of B will be equal to the present age of A. Sum of A's age 3 years later and B's age 4 years ago is 76. If C is half of the present age of B,
then what will be C's age (in years) after 10 years?

=t v a1, B i Y A <l IHT 317 o SRIeR g1t | A &Y 3 e aTe &ht Sy JuT B i 4 a Ugel i 311G <l 1T 76 &1 Af C, B &l aciAT 31 & et 8, at 10 o &g C hi 31y (T H)
T ghft?

Options:
1) 32

2) 36

3) 27

4) 31

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Herringbone

g Mg wy F, Fafafa Rieedt & @ a8 s gy St g g 2reg & s1eRt o1 wiT sk el ST ST ek 21
Herringbone

Options:

1) Biner

2) None

3) Bane

4) Hinge
Correct Answer: Bane
Candidate Answer: Bane
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QID : 13- In a certain code language, "NIGHT" is written as "ODDGM" and "DARK" is written as "GOYC". How is "GREEN" written in that code language?

U fafre Fie wrer &, "NIGHT" &6t "ODDGM" foraT STrar € 9T "DARK” &t "GOYC" fo=ar STiaT &1 39 i o & "GREEN" &t fohe TahR forar smeam?
Options:

1) IABPF

2) MCBNB

3) OGHVL

4) FPBAI
Correct Answer: IABPF
Candidate Answer: IABPF

QID : 14 - In the following question, correct the equation by interchanging two signs.
4x3-6+2+7=8
fFrafofea vy 5, ) 3 nfordia Sftkarsi @t smog & R e iy g TrfieRor &t wEt HifSal

4x3-6+2+7=8
Options:

1) -and +

- qar+

2) x and -

X YT -

3) +andx

+dUTX

4) x and +

X T+

Correct Answer: — and +
—ddar+

Candidate Answer: — and +
- qAT+

QID:15-1f3#4%8=6and9%4#3 =12, then
12%6#24="7
gRE3#4%8=6qM9%4#3=128,a

12%6#24=2

Options:

1)4

2)3

3)5

4)6

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID:16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Frrafefee oy & By or Reedt 7 ¥ uw e
(?) & TUE W HS arell T&4T B JEAT|

ol ®

=| ||~

| =] w

51273
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Options:
1) 14
2)15
3)16

4)18
Correct Answer: 15
Candidate Answer: 15

QID:17-
How many friangles are there in the given figure?

& o g 3 Rt Pager ¥

™,

\:. /

V%
e

Options:
1) 32

2)34
3)37

4) 40
Correct Answer: 37
Candidate Answer: 37

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some boys are hardworking.
Il. No intelligent are boys.

Conclusions:

I. Some hardworking are not intelligent.
II. All hardworking are intelligent.
I1l. Some intelligent are not hardworking.

12 Q7T udes U H @ U SR I d1% I el IR TR §© ey g g &, gretifen 376 g 71 aeat @ fradn g wendt &1 gt fsend ud ofk fiRr fFraffa & fs g
Qg A § e g 7g et & ameR wR gReeTa &1

hY:

|. & TSh HgAdl 8
II. < YA sThT TeT &1

fArsep:

|. 3 Agdt gfgH™ el &1

1. gft At gfgmm &1

1. 8 FfGa et 78t &1

Options:

1) Only conclusion (I) follows.
frsehef (1) @t 81

2) Only conclusion (1) and (111) follow.

Faet e (1) qar e (1) 92 &

3) All conclusions follow.

GRIRELAE

4) No conclusion follows.

g off Freere agt 81 &1
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Correct Answer: Only conclusion (1) follows.
Shaet s (1) Tt 81
Candidate Answer: No conclusion follows.

foeee gt TEi &1

QID: 19-
Three positions of a cube are shown below. What
will come opposite to face containing ‘$'?

&g T ud A i g R = ) ude

=g ¢ F fule voF w ®i @ e =g
HTIAA?

% A

Options:
1) %

2)&
3)4

4) +
Correct Answer: &
Candidate Answer: &

QID:20-
In the given figure, how many people study only 2
subjects?

& 9% pfa A, forder oler shae 2 oww & ued €2

/ D Vi
Mathematics / /5\ \ B §
—» 8 p 1= g | ysics
oo \ 37‘} K Hifaw o
x%{ga)‘\lz_l/

. 15/
\'H_T/r
Chemistry /
THEIAT-AMH

Options:

1) 11

2) 23

3)12

4) 40

Correct Answer: 23
Candidate Answer: 23

- Powered by IBT
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QID: 21 -
Which answer figure will complete the pattern in the
question figure?

Bl W I HFA TH HHA & UawT S g
HT?

AN
? Y

Options:

=y
~

N
—

arapras

w
~

S
=

o

9
E A
>

> |2

Candidate Answer:

Z
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QID:22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o I HEfad # ¥ 3@ IR He #® gAw
form & uy wgpla AR &

X

Options:
1)

AV4
/\

>/‘

LK

X

Correct Answer:

AV
/\

Candidate Answer:

AV
/\

- Powered by IBT
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QID: 23 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

#=r & un agfaal # @ 3EER Fwe @
ABAT Teed I Wield & dI¢ g hH 3R AP
s e g

Options:
1)

N
-

o ¢

w
~

S
=

Correct Answer:

<

Candidate Answer:

<
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QID:24-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg oo ZUuT FY AB YT WX @ &M, & & T3
9T FFfaat # T il O Fela uy e A
e ufafesa gefre

o O
O

Options:

1)

4)
O [>»O
O

Correct Answer:

@)

9

Q" Q

Candidate Answer:

&)

9

Q Q
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QID:25-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C" can
be represented by 10, 34, etc., and ‘D’ can be represented by 85, 98, etc.
Similarly, you have to identify the set for the word “STEAL”.

U UG Shael UF HEAT-HAE NI g Imm ¥, Star e fawedt A @
et e 3 BT mam €1 Beent # Br o mn-aep 3Rt & gy et
gRT getw e ¥, Star e fgw are o ancgpl & ¥ amegpl & T AR
Ufes T T 0 § 4 & 3T 3w 5 F 91 39 R F U I/ A
upel 3WH ofth AR A F TaE wET R gRiET ST wewar §1 3EIRROT
& fow ‘c’ @ 10, 34, g &R gRifAr S Gehar & T ‘D° F 85, 98,
M gRT T S WAl ¥ W alc d WuN uH H QU g
“sTEAL" & faw wop # ugaEar &

Matrix-I Matrix-1i
G- eI
o[1[2[3[4 5[6[7[8]9

0[T|[S|[C|[K[E 5[P[D[A[T|L

T[C[K[E[T[S 6(L|I|D[A|P

Z[K[E[S|C[T T[T[A[L[P|D

J|IS|T|K|E|C B|ID(P|I]|L|A

4|E|C|T|S|K 9|A|(L|P|D]|I

Options:
1) 01,13, 04,76, 66

2) 14,31, 40, 95, 59
3) 22,42,21, 69,97

4) 43,24, 33,57,58
Correct Answer: 14, 31, 40, 95, 59
Candidate Answer: 14, 31, 40, 95, 59

QID : 26 - Which one of the following is a component of Food Security System?

frfafed & & 91 @Ter FR&T HUTel! &l Geh Hedh 7
Options:

1) Buffer stock

TET eR

2) Minimum support price
AT T e

3) Fair price shops

I g i g

4) Mid day meals

g o

Correct Answer: Buffer stock
T er

Candidate Answer: Buffer stock
AT eR

QID : 27 - What is the accepted average Calorie requirement for rural area in India?

ART H T &1 & AT srmasges Sfd el foha=t &2

Options:
1) 2100

2) 2200
3) 2300

4) 2400
Correct Answer: 2400
Candidate Answer: 2300
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QID : 28 - Whose recommendation is mandatory to impeach the President of India from his office before the completion of his/her term?

TR & PR T I HRIHTA & TG & Y& AT 5N et o forg foereht srgeie sifamd 82
Options:

1) The Prime Minister

PRICEEl

2) The Speaker of the Lok Sabha

Ik T Sieael

3) The Chief Justice of India

IR & T refier

4) The two houses of the parliament

TEE & AT &

Correct Answer: The two houses of the parliament
TEE & AT &

Candidate Answer: The two houses of the parliament
TEE & AT &

QID : 29 - How many types of writ are there in the Indian Constitution?

IR Gy § fha ueR & =1fiies smesr 8?2
Options:

Correct Answer: 5
Candidate Answer: 5

QID : 30 - Who has built the Vijay Stambha (Tower of Victory) in Chittorgarh?

Rxitee # g w9 (TR St faest) fohaa sramar am?
Options:

1) Maharana Pratap

HERIUN Ud1q

2) Rana Kumbha

70T e

3) Rana Sanga

0T i

4) Kunwar Durjan Singh

P got Rie

Correct Answer: Rana Kumbha
RTOTT e

Candidate Answer: Rana Kumbha
70T e

QID : 31 - Who raised the slogan “Swaraj is my birthright and | shall have it"?

Options:

1) Mahatma Gandhi
HETHAT el

2) Subhash Chandra Bose
TS I 9

3) Bal Gangadhar Tilak
e TMeR foereh

4) Lala Lajpat Rai

ATAT <ATSTUd 1T

Correct Answer: Bal Gangadhar Tilak
1 TR foereh

Candidate Answer: Bal Gangadhar Tilak
TeT THMTER

QID : 32 - Which Indian state is the largest in terms of the total area covered ?

Sthet Y gfY T HIRA T T FST IS i AT 872
Options:

1) Maharashtra

HERTE

2) Madhya Pradesh

e TR

3) Rajasthan

ST

4) Tamil Nadu

GIECEI
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Correct Answer: Rajasthan
ST

Candidate Answer: Rajasthan
ST

QID : 33 - Which Indian state has the longest Coastline?

RA o oy o9 o U1 T ot 9fed de &7

Options:
1) Kerala
Eag

2) Gujarat

RSNG)

3) Andhra Pradesh

3TT mer

4) Tamil Nadu

GIECEI]

Correct Answer: Gujarat
TSIId

Candidate Answer: Gujarat

TSRId

QID : 34 - Auxiliary bud develops into which of the following part of the plant?

frafafea 3 @ i & g wm & wefta weft fefa gidt 82

Options:
1) Fruit
el

2) Leaf
o=ft

3) Branch
/MET

4) Roots
e

Correct Answer: Branch
RUEE]

Candidate Answer: [ NOT ANSWERED ]

QID : 35 - Xylem helps in transportation of which of the following?

Stsem, F=fofea & § forass uRaga & ggrrdr &ear &2

Options:
1) Food
oo

2) Water
Eicil

3) Nutrients
Yives I

4) Both food and water
IS qUT U= g

Correct Answer: Water

Candidate Answer: Both food and water
ofiST qeT

QID : 36 - Who proposed five kingdom classification?

Ui ST aiffenvor T Tare foha fam ar?

Options:
1) Ernst Mayr
IR R

2) R. H. Whittaker
3) M. W. Beijerinck
UH. 8L

4) D. I. Ivanovsky
8. 3718, gaTTawh!

Correct Answer: R. H. Whittaker
IR, T fgdaw

Candidate Answer: [ NOT ANSWERED ]

QID : 37 - What is the other name of Galileo's law of falling bodies?

fiefiforat & fARa AR & g &t 3R forg 7 & ST ST 82

- Powered by IBT
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Options:
1) Law of motion

Titar a1 e

2) Newton's first law

e 1 uger |

3) Newton's second law

e o gERT

4) Newton's third law

e o1 e

Correct Answer: Newton's first law

e 1 uger |

Candidate Answer: Newton's second law

e 1 gET fam

QID : 38 - Which of the following device is best suited for measuring the temperature inside metallurgical furnaces?

rfafea & & e @ ds urg wfgdl & sfer & droHH @l 719 & fog g 3fRa 82

Options:
1) Pyrometer

2) Thermocouple
3) Thermometer

4) Thermistor
IffeR
Correct Answer: Pyrometer

Candidate Answer: Pyrometer

QID : 39 - What is the full form of 'LAN'?

UA.Q. Q. T Srfera =9 a1 82
Options:

1) Line Area Network

g QR Aeadh

2) Linear Area Network

3) Local Area Network
dieher QRAT Feach

4) Land Area Network
e R Aeadh

Correct Answer: Local Area Network

wena QRam Aeadh

Candidate Answer: Local Area Network

wena QRam Aeadh

QID : 40 - Which acid is released when an Ant bites?

ST Yeh Tt e &, af fohg 3t o Rama glar 82
Options:
1) Hydrochloric Acid
3T
2) Formic Acid
hifteh o
3) Acetic Acid
wafes e
4) Phosphoric Acid
TRIEhITReh 377t

Correct Answer: Formic Acid
hifteh ST

Candidate Answer: Phosphoric Acid
T 3T

QID : 41 - Which among the following is an example of solid sol?

fFrafafEa & 9 & U 319 i a1 e 381807 872
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Options:
1) Milk of magnesia

A=A fen
2) Foam
o)

3) Coloured gemstones
M (IeT) TR

4) Rubber

TR

Correct Answer: Coloured gemstones
GfiFT (3) TR

Candidate Answer: Foam

QID : 42 - Which metal is responsible for Itai-Itai disease?

3CTS-3CT8 e SR & foTg e 97 UTg ITRaEr giar 82
Options:

1) Cadmium

2) Nickel

[EC

3) Chromium

4) Mercury
I

Correct Answer: Cadmium

Candidate Answer: Cadmium

QID : 43 - 'Vikalp' is a scheme launched by Indian Railways to help wait-listed passengers. Which of the following is NOT true about this scheme?

TR IeTa gRT Ueten gafterg anfa & fog e ames gt = & it &1 =feifEa & & &9 91 svem 39 gien & def § a8t 781 82

Options:

1) Confirmed berths in alternate trains.

E g1 A Ieh! hehd TE & S

2) No-extra charges will be taken from passengers.
it & sifaReh forerar 48 forar SR

3) Wait-listed passengers can avail opportunity of travelling in Rajdhani/Shatabdi/Special trains even when booking made is in other mail/express trains.
ycfer Gefterg a1t et ot/ QTaTedl/TRTet 3 § ATAT AT STTR I & Tehdl 8, STafch S8t gt Hel/ Yo ¢ H gfeh v g€ gl
4) Vikalp scheme will be initially available for e-tickets only.

et §-feche TR & Uy gt

Correct Answer: Conﬁrmed berths in alternate trains.
T 1 A IR R T & St
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Who discovered the Cholera causing germ?

&1 o oy <hl it fohe <t oft?

Options:
1) Filippo Pacini
fonferot ufet

2) Robert Koch

Aq g

3) M. Laveran

TH. AERE

4) Felix Hoffman

ThfcTe gImAT

Correct Answer: Filippo Pacini

Candidate Answer: Robert Koch
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QID :45-
Match the following.

T o Beme fifaT)
Player / Feremér Sport | @
1. Mithali Raj a. Hockey
et o= i
2. Poonam Rani b. 3000 m Steeplechases
EH T 3000 . wFr @ g
3. Lalita Babhar c¢. Cricket
wferar & e
Options:
1) 1-c, 2-b, 3-a
2) 1-a, 2-b, 3-c
3) 1-a, 2-¢c, 3-b
4) 1-c, 2-3, 3-b

Correct Answer: 1-c, 2-a, 3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 46 - 'Hunar Haat' an exhibition to exhibit and promote the arts and artisans from minority community was launched at which of the following events?

ST TG i Thell qT fATARRT i HIedTe & o fog 'gR g1’ Heef frmfafed # § fred srfers # SmReT &t mam am?
Options:

1) Pushkar Fair, 2016

g Jell, 2016

2) IITF, New Delhi, 2016

IITF, 7% f&e=t, 2016

3) Suraj Kund Craft Mela, 2017
oIhe gefIed dar, 2017

4) Kumbh Mela, 2015

Y Jel, 2015

Correct Answer: IITF, New Delhi, 2016
IITF, =% fee=h, 2016

Candidate Answer: [ NOT ANSWERED ]

QID : 47 - Which movie won the award for the best movie at the Oscar Awards 2017?

SR QRERR 2017 & i &t fthew 3 9IS fthew ol QRERR Sitdr?
Options:

1) Lalaland

qAAS

2) Arrival

KNECE]

3) Moonlight

4) Manchester by the Sea

AR AR T

Correct Answer: Moonlight

L SSIE

Candidate Answer: [ NOT ANSWERED ]

QID : 48 - Who is the author of the book titled 'Citizen and Society'?

RO Tue Targél Ames fohard & oad @i 87
Options:

1) Pranab Mukherjee

HUTE q@Sit

2) Hamid Ansari

RIECEEIN]

3) Nandan Nilekani

A& Fefor

4) Satyaijit Ray

Fesfid ¥

Correct Answer: Hamid Ansari
gIfAg St

Candidate Answer: Nandan Nilekani
e
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QID : 49 - With which country India has recently signed a MoU for Water Conservation in India?

IR 3 T &1 A fohg 227 & Ty Ra H STeT TRETUT & forg IugiiaT s foram 82

Options:
1) France
g

2) Germany
STHAT

3) Israel
ESNEC)
4) Bangladesh
Eicical]

Correct Answer: Israel
ESNER)

Candidate Answer: [ NOT ANSWERED ]

QID : 50 - Which among the following neighbouring country of India is the largest producer of Opium in the World?

ffafEa 7 @ R &1 st a1 TSIRdt 327 3R ot Taffdes It 87

Options:
1) Pakistan
uTfRET

2) Afghanistan
ST

3) Sri Lanka
et

4) Maldives
ATela

Correct Answer: Afghanistan

Candidate Answer: Pakistan

QID : 51 - How many numbers are there from 300 to 650 which are completely divisible by both 5 and 7?

300 ¥ 650 deh U fora=Nt Teeamd & St 5 1 7 @41 & gofa: fawfSra gt €2
Options:

1)8

2)9

3)10

4)12

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 52 - Raman can do a work in 5 days, Jatin can do the same work in 7 days and Sachin can do the same work in 9 days. If they do the same work together and
they are paid Rs 2860, then what is the share (in Rs) of Raman?

T U i ot 5 3 & o epelt &, Sifae It s ot 7 o A o e & aur 9 S ol vt 9 3T A R Iohan &1 A T 59 o ol any F o & S forg S 2860 3. R S
g, @t T\ ot fgn (3. B) fora=m g

Options:

1) 1260

2) 700

3) 900

4) 870

Correct Answer: 1260

Candidate Answer: [ NOT ANSWERED ]

QID : 53 - If the diameter of a sphere is 14 cm, then what is the surface area (in cm?) of the sphere?

a2 geh et b1 @ 14 4.1, 8, @t et o1 geft ket (3.51.2 F) fvar g

Options:

1) 616

2) 308

3) 462

4) 636

Correct Answer: 616

Candidate Answer: [ NOT ANSWERED ]

QID : 54 - After two successive discounts of 20% and 35%, an article is sold for Rs 50700. What is the marked price (in Rs) of the article?

20% 4T 35% I 3 hffieh e o I1& e a¥g &l 50700 3. & & ST1aT 81 9% T Sifchd Tew (3. §) Fm 8?
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Options:
1) 92500

2) 98500
3) 97500

4) 94000
Correct Answer: 97500
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Rs 3200 is divided among A, B and C in the ratio of 3 : 5: 8 respectively. What is the difference (in Rs) between the share of B and C?

3200 %. &Y A, B au1 C & ff ghAsT: S1UTd 3 : 5: 8 H dfer STrat 81 B @1 C & R § fpaan iR (. ) 82
Options:

Correct Answer: 600
Candidate Answer: 600

QID : 56 - The average of 5 members of a family is 24 years. If the youngest member is 8 years old, then what was the average age (in years) of the family at the time
of the birth of the youngest member?

e URAR o 5 Gewl ol ofied o1y 24 I 31 afk 9o Bi Jaw &t 9y 8 o g, I e B et & 5+H o TFY URAR i $fud oy (auf #) T oft?

Options:

1)16

2) 20

3)24

4)32
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - If the price of pen decreases by 20%, then a man can buy 10 more pens for Rs 100. What is the new price (in Rs) of each pen?

Tfe e Y Hrad & 20% Y Y gilt &, @t Tas afh 100 3. # 10 e ik TRg Tehd &1 T et oY 73 Hd (3. ) o 8?2
Options:

1)1

2)2

3)4

4)5
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |

QID : 58 - After deducting 60% from a certain number and then deducting 15% from the remainder, 1428 is left. What was the initial number?

foreft T 7 60% T et et h IURIA aUT T g3 T A fOR T 15% Y deldl et TR 1428 AW I STl & | TRfeh T et off?

Options:
1) 4200
2) 3962
3) 4150
4) 4300

Correct Answer: 4200
Candidate Answer: [ NOT ANSWERED ]

QID : 59 - A train travels 40% faster than a car. Both start from point A at the same time and reach point B, 140 km away at the same time. On the way the train takes
25 minutes for stopping at the stations. What is the speed (in km/hr) of the train?

Teh SATS! Geh R F 40% o1 Teiclt 81 A1 foig A & Toh 81 979 IR IR X & a7 140 .1, 33 f¥a fig B IR gor &t 9ig ugad &1 71 A 3! WMl IR ¥ & frg 25 e
A 81 Yt A v (Fop. . ufy ger 7) i &2

Options:

1) 67

2)134.4

3)145.9

4) 160
Correct Answer: 134.4
Candidate Answer: [ NOT ANSWERED ]
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QID : 60 - A certain sum of money triples itself in 5 years at simple interest. In how many years it will be five times?

5 gut § ger FAfYa afy Sremor st i @ @ T a1 i 71 8 STt 81 fRae awt | ag ot T 8t smf?

Options:
1)5

2)8
3)10

4)15
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID : 61-If x + (1/x) = 2, then what is the value of x4 + x121?

e x + (1/x) = 2, A x64 + X127 &y 771 ghr?
Options:

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID: 62 -

If x= 6+2«f§, then what is the value of x -1+

?

-1
Nx =1

T x=6+26,ar Jx-1+

T AT F &7

ﬁ‘ N
|
—

Options:
1) 2v3

2)3v2

3)2v2

4)3v3

Correct Answer: 2v3

Candidate Answer: [ NOT ANSWERED ]

QID: 63-If a+b+c =27, then what is the value of (a - 7)3+ (b - 9)3+ (c - 11)% - 3(a - 7)(b - 9)(c - 11)?

ga+b+c=27d(@-7°3+b-9°%+(-11)3-3(@-7)(b-9)(c-11) Ha=rg?

Options:
10

2)9
3)27

4) 81
Correct Answer: 0
Candidate Answer: 0

QID: 64 -

2./15 5 x+~f_
If x then what is the value of
g o i

v{_ X+~J’§ X+~f§
T X ™ B B

T AT FIT 87
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Options:
1) V5

2)v3
3)v15
42

Correct Answer: 2
Candidate Answer: 2

QID : 65 - The perimeter of an isosceles triangle is 32 cm and each of the equal sides is 5/6 times of the base. What is the area (in cm?) of the triangle ?

e ufRaTg Bryet o1 uRemg 32 .5 & qouT ST Tclich SRIeR ST 34 TR Y 5/6 AT &1 Foget 1 @srchet (9412 &) fore 82

Options:

1) 39

2) 48

3) 57

4) 64

Correct Answer: 48

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - If length of each side of a rhombus PQRS is 8 cm and 2PQR = 120°, then what is the length (in cm) of QS?
i gAYt PQRS & Ucdeh 3T &t oS 8 Y. § JUT £PQR = 120°, @ QS &l &g (R.+1. #) arm ghft?

Options:
1) 4v5

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

QID: 67 -
In the given figure, ABC is a triangle. The bisectors
of intemal /B and extemal /C interest at D. If
ZBDC =48°, then what is the value (in degrees) of
ZA?

& 7% pfa #, ABC we Rgsr &1 ~B Tur o™
£C @ fewse g D W ufd=ae @war §1 af
/BDC =48° §, a1 A &1 A1 (fZaft &) @ram &2

A D
/’\ £
SN\ ﬁ//

4 i
e
ye /-/ \ X /f
i
LKy X
B C
Options:
1) 48
2) 96
3) 100
4) 114

Correct Answer: 96
Candidate Answer: 48
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QID : 68 -
In the given figure, O is the centre of the circle and
ZDCE = 45°. If CD = 1042 cm, then what is the
length (incm) of AC - CB = BD

A T M A, OqF & HF &, A ~DCE = 45°
gl ofz CD = 1002 A & O AC fr wFas
(@7, #) |1 €2 CB =BD

Options:
1) 14

2)15.5
3)18.5

4) 20
Correct Answer: 18.5
Candidate Answer: [ NOT ANSWERED ]

QID: 69-
4 e sin2A
What is the simplified value of —/————— 7%
H T+ cos2A
sin2A

—_—— @Al 'H!Eﬂl@?—l HIT FT &7
1+cos2A %

Options:

1) tan A

2) cot A

3)sin A

4) cos A

Correct Answer: tan A
Candidate Answer: [ NOT ANSWERED ]

QID:70-

2
What is the simplified value of | — 24 | 2
cotA+tan A

{ﬂlzaﬁrmﬁﬂﬁrmm%‘?

cotA+tan A

- Powered by IBT
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Options:
1) 1 - cos2A
2) 2sin?A
3) sec?A
4) cosec?A

Correct Answer: 1 - cos2A
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - What is the simplified value of 1 + tan A tan (A/2)?

1 +tan A tan (A/2) &1 G=lichd A T 82

Options:
1) sin A/2

2) cos A

3)secA

4) sin A

Correct Answer: sec A

Candidate Answer: [ NOT ANSWERED ]
QID:72-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

= fqr av g7 Ry & oF sgevE gEE W5
fafees sost & St v g & i W gl
T@ Fer 1200 ST &

Puma/ wWny/
I=g
L 13%
21% _
didas/
MNike / 259
(1]
CIEET
18% Reebok/
FEIED
23%

How many shoes are there of Reebok brand?

Haifer ST0E & fahe S &2
Options:

Correct Answer: 276
Candidate Answer: 276

- Powered by IBT



QID:73-

www.makemyexam.in

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.

There are total 1200 shoes.

A fow w1 g9 Rg F vw wgevs gEE W5
faffesr st & s@r & wE Fr g

Tgr e 1200 ST &

Puma/

AT
21%

Nike /

FATEHT

18%

Vans/

==
13%

didas/

ofEem
25%

Reebok/

FIEICT
23%

What is the difference in number of shoes of Puma and Vans?

AT T 3 3 Sl ohl Tt # fheT SR 82

Options:

Correct Answer: 96
Candidate Answer: 96

- Powered by IBT
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QlD:74-
The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

A fow w1 g9 Rg F vw wgevs gEE W5
faffesr st & s@r & wE Fr g
Tgr e 1200 ST &

Puma/ v
==
S 13%
21%
didas/
Nike / 259
(1]
FATEHT
18% Reebok/
frats
23%

The difference between the number of shoes of Reebok and Nike is same as the difference between which of the following two brands?

Jiieh TUT ATgeh! STUS] o Sdl o sTel ehl TEAT el 3R Ffafad d & o &t sust &SIl o offa & dven & 3far & a9 87
Options:

1) Puma and Adidas
AT AT TSI

2) Reebok and Adidas
SiaTe qur TSie™

3) Vans and Nike

¥ qr

4) Nike and Adidas

AT qUT TEIeT

Correct Answer: Vans and Nike

&= quT TS

Candidate Answer: Vans and Nike
= au
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QID:75-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

A fow w1 g9 Rg F vw wgevs gEE W5
faffesr st & s@r & wE Fr g
Tgr e 1200 ST &

Puma/ v
==
S 13%
21%
didas/
Nike / 259
(1]
FATEHT
18% Reebok/
frats
23%

Puma shoes are how much percent more than the Nike Shoes?

e 3 o AT 3 ST @ e Rt fien &2

Options:
1) 14.28

2) 16.66
3)25

4) 21.33
Correct Answer: 16.66
Candidate Answer: 16.66

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

No sooner did | come out of my home to go to market (1)/ when it started raining heavily (2)/ which drenched me completely. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 1

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Unless you don't obey (1)/ your elders you (2)/ will not succeed in your life. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Fourteen kilometres not a short distance, to reach to my office daily.
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Options:

1) are

2) has

3) have

4)is

Correct Answer: is
Candidate Answer: have

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Good reading the sense of liberal educated mind.
Options:

1) beliefs

2) leads

3) reflects

4) starts

Correct Answer: reflects

Candidate Answer: leads

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Frivolous

Options:

1) Captious

2) Wise

3) Puerile

4) Spiritual

Correct Answer: Puerile

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Petrify

Options:

1) Adorn

2) Calm

3) Curious

4) Harden

Correct Answer: Harden

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Gregarious

Options:

1) Affable

2) Genial

3) Introvert

4) Urbane

Correct Answer: Introvert

Candidate Answer: Affable

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Tremulous

Options:

1) Feeble

2) Frugal

3) Stable

4) Vital

Correct Answer: Stable

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

The alpha and the omega

Options:

1) Happy and sad

2) The beginning and the end

3) The love and the hatred

4) Truth and dare

Correct Answer: The beginning and the end

Candidate Answer: The beginning and the end
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QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Throw up the sponge
Options:

1) To attack

2) To laugh at someone
3) To surrender

4) To talk loudly

Correct Answer: To surrender
Candidate Answer: To laugh at someone

QID : 86 - Improve the bracketed part of the sentence.

I had (a few) eggs in the fridge, so we need to go to the market to buy them.
Options:

1) a little

2) few

3) little

4) No improvement

Correct Answer: few

Candidate Answer: few

QID : 87 - Improve the bracketed part of the sentence.

My brother is indifferent (about) whatever | say.
Options:

1)in

2) of

3) to

4) No improvement

Correct Answer: to

Candidate Answer: in

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A funeral poem
Options:

1) Elegy

2) Pandemonium
3) Parody

4) Sonnet

Correct Answer: Elegy
Candidate Answer: Elegy

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who walks in sleep
Options:

1) Drover

2) Fastidious

3) Numismatist

4) Somnambulist

Correct Answer: Somnambulist

Candidate Answer: Somnambulist

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Gaurantee

2) Itinerary

3) Magnificent

4) Writing

Correct Answer: Gaurantee

Candidate Answer: Gaurantee

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Etiquete

2) Exquisite

3) Restaurant

4) Scavenger

Correct Answer: Etiquete

Candidate Answer: Restaurant



www.makemyexam.in - Powered by IBT

QID : 92 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

P-But he did not know how to find one at that hour.

Q-It was his first visit to the city and he didn't know where to go.
R-Mohanlal's train was late and it reached Kolkata a little after midnight.
S-He thought he would go to a choultry where he would not have to pay rent.
Options:

1) PSQR

2) QRSP

3) RQSP

4) RSQP

Correct Answer: RQSP

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

P-And slowly, you reach the pinnacle of self-awareness, experiencing a unity with all life.
Q-If you transform your energy positively, it naturally becomes compassion and love.
R-Once you experientially are a part of everything then nobody needs to teach you morality.
S-Then you can do something to improve the situation, but without anger.

Options:

1) PQRS

2) QPRS

3) RQPS

4) RSPQ

Correct Answer: QPRS

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Ram was singing a beautiful song for his mother.
Options:

1) A beautiful song was being sung by Ram for his mother.
2) A beautiful song was sang by Ram for his mother.

3) A beautiful song was sung by Ram for his mother.

4) A beautiful song was sung for his mother by Ram.

Correct Answer: A beautiful song was being sung by Ram for his mother.
Candidate Answer: A beautiful song was sung by Ram for his mother.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

Priya advised me not to go to school the next day.
Options:

1) "Don't go to school next day" Priya said to me.

2) "Don't go to school tomorrow" Priya said to me.
3) Priya said, "Will you not go to school tomorrow?"
4) Priya told me that, "Don't go to school tomorrow."

Correct Answer: "Don't go to school tomorrow" Priya said to me.
Candidate Answer: Priya told me that, "Don't go to school tomorrow."

QID : 96 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

Job performance is
Options:

1) affected

2) effected

3) influenced

4) measured
Correct Answer: affected

Candidate Answer: affected

by a number of factors. Motivation alone

QID : 97 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

motivation and performance. The higher the levels of ability and motivation the the level of performance will be.
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Options:
1) higher
2) larger
3) lower
4) smaller

Correct Answer: higher
Candidate Answer: lower

QID : 98 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

However, increasing motivation beyond an level
Options:

1) certain

2) desired

3) increased

4) optimal

Correct Answer: optimal

Candidate Answer: certain

QID : 99 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

tends to a dysfunctional result
Options:

1) deduce

2) introduce

3) produce

4) reduce

Correct Answer: produce

Candidate Answer: produce

QID : 100 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation

beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.
because it is by an increased level of anxiety.
Options:

1) abandoned

2) accompanied

3) affiliated

4) amalgamated

Correct Answer: accompanied

Candidate Answer: amalgamated





